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0o,

dw

P(cos ©) (—) (2.23)

kS 1, dmdw dvdt /
4dr

Q

/Q P(cos ©) (%:) ~1 (2.24)

gob,g0bbogbol1ggobooooboog,bbugoobooobbod
gbogbooboboobboobbodg,ogbbuoobboobbodgbbo
ggb.boogoooboooo,1oboogob,

goo.oobod,

d
/P(cos@) (_w) =w<1 (2.25)
Q 4
uggb.0bd,mggbbbuoogobb. buogobbouoooobn,
kS kS
=Y v (2.26)

AR
000.000,k 0000000,k 0000000000,
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00000000,000000000,000000000000000000
0. 0000000000 (K =0,k=1)000,x=0000000000
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gooon

gbbooboobbuodboobobuoobboo,odboobboobobo
ooboooooooo je0b0oO0bD,0b00b0b00b0 000000 dew DO
ooooooooboon jedmdwdredt 000 .

000000000 (w=0,k=k)0,LTE(0000000)0000000
00, (214)000000000000000,(219 000000000000,

yQ
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00000000000 (w=1,k=42)000, (2.23)00,

(2.28)

.

R »

Il
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N
b\
N———

dw
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Oooo,000000,

;S d /
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0O0000. 0000000000000000000000000000,
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gogboboooon,
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good.
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DOoO0D0O0O0 (J,=0000, (2200000000000,
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b = (2.33)

000. 000,000 s=0000000000000 L(O)DDOODOOO,
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t,(0,s") = exp[—ku"] (2.38)
goo.
goood
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3.1 UOoogond

0000000000000000 [, 00000000000000000
0o,

T = Bu_l(lu) (31)

0000000000000 Tz 00000000000 0OODODODO (oDoD)
goo.

ggb,bbbodggogbobbbou,gooobbbooog. bbodo
gogooobooooogn,

(S/4) x (1.0 — o) = (1370/4) x (1.0 — 0.3)

3.2
~ 240W /m* (3.2)

goo.oboo,oboon0 sg 1370W/m2,DDDDDDD al 03000.0
gogoobodg rogog,

oT* = 2394,

(3.3)
T ~ 255K

000.000,0000000000000000, ¢ =>5.66961x10"% Wm *K~*
000™ 000000000000000000000000 288KO0O00
ggbobu.gobbbbooobobobuoooobbboooobn.
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3.2 0O0OOO

ooooboooooooooooo. oo, b0ob0b0ob0 kR, ObOoDbOoo
gogoobo.bog,gobbboooooboobooooobooboboo. od
g,0booggbbobooodgob,uggooobooboooon,

D 1) - By (3.4

goo.

gogo,bbobodgoogobbobbouooooobbooboa. bbobo,dd
O00D0O0O00D0D0 cosfOODDOOODOOODOOOODDOOODO,

! 2drl(r; 2dF?
— I(T;+u)2ﬂu2:—m:——:FT—wB
dr J, 3 dr 3 dr (3.5)
2dnl(T;—p) 2dFt B
—_—_ = ——— = — 7T
3 dr 3dr
ooo.
O000000000ooooooooogoo. (3500
2.d
——(FT—|—F¢) — T pt
2d '
gd—(FT ~FY=F"+F'-27B
-
O00.0000000000000O0O00b0oO0o0oboo0oooDo,
anet d
= ——(F'-FH =0
dr dT< ) =0, (3.7)
o FT— FY = "' = const.
ooDo. 37oooog, (3.6) 0
FryFb =2 g o
2 (3.8)

F'+ Ft=27B

gogo.

00000000000000000,00000000000000 (J)0O
00000000000 (FY0)0000o0o0o0oo,

FY0)=F™'=C = J, (3.9)
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gob.bogdao,

ﬁﬁ+Fh:%(;w4)

Jo (3
B=—|(- 1
™ 2(27+ )

(3.10)

goo. bgbb,obboobboobooboobo,oboobbobbon
gogbbbuoogobobboooobobo. ogobobboooobobbooon,

FT:%(ST%—Z)

3
F’”L = ZJOT

(3.11)

gob.bogobbuogobbooobbooob,ogobbuooobobod
ggbbobogobbobooad,

Jo (3 J
WB@ay:;f(?wa):wB@g@+él (3.12)
000.000 B9, B®WO0OO0000000OOOOO0O0O0ODO,T,7,0000
000000000000, (3.12)000000000000000000000
0O0000000. 0000000000000 00000000000000
ooooOooooooooao,

p(2) = pge /1 (3.13)

000. 000 HY 0OO00O0O0D00D00000000. 000000000
g

T = / k,p(z)dz = /{,,ng(a)e_z/H<a) = Tge_Z/H<a) (3.14)
0oooo,
Jo (3 o
B = ?0 <§TgeZ/H( '+ 1) (3.15)

ubod. r, 0bodgododaodgod. bgbooboobdboaoboooood
0000 40000000, (.15 000000 0000000

1Jo (3 . i
e

goo.
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gooobon

00D0oO0,00000000b0bO0000bDbo00o0ooDbooOooDoOo,d
00doD00o0dpDoodoOo. 000ododoooo,0odoooooooon
JddddddddddooOoOoOooooooooo, 0000000 Oooa
00000000 0O000DoOo0, 000000 oooooooooonDo. od
00dd0o0oDoDooDooOoO0O0O. ooooooobooboobooboobooo0o0o0ooad
O000. 00000000000 0000000000, 000 l,be)DOOO
I o 7 S I
ds=dz/cos§ 00000, (2200000000000,
dl, (20, ¢)

kepdz
00000000.000,0000 0O

cos 6 =—1,(20,0)+ J,(2;0,0) (3.17)

p = cosf (3.18)
gooo,oo0booooonod dr, O
dr, = —kSpdz (3.19)
goodoo.obbbb o, 00000 z000D0D0O0D00000O0OO0O0OO. OO
0oo, (3.17)0,
dl,(r;0,
p A0 1 (r0.6) — d(r:0,0) (3.20)
Ty
O00. 0000000ooo0o0oooouooooOg. 00,00000 (n/2 <
f<m)0000,0000 p000 0<u<10000000000 u0 0O

00.000,0000000000000000000 L(r4u,e), L(r;—u,¢)
ooooo.

goooobooogad

(3200 0000000000000, 000D0O0O000000O0O,

L(7; 4, ¢) = L(7%; 411, ¢) exp {— ;

(3.21)

*

G

+/T JV(T’;+M,¢)€XP[— }%l (O<p<l)
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000™ 000, L(r:+u,¢) 0000000000000 (g¢) 000000
00000000.000100,000 L(r;+u,¢)000000000000
0000000.000 2000000000 (w¢)0OOOOODOO000OO
000000000000000000000000000000000000

gob,b00goobooo

1o =11, 6) = L0511, 8) exp H]
(3.22)

+1ATLATG—uwweXpL—(

000™. 000, L(0;—u¢) 0000000000000 (—u,¢) 000000
000000,00000000000000000000000000000

T_qu1(0<uéh
1

0000000, (321),(322)0000000000000ODOO, 000000
gobooodb.obgooboboobob,bboboobobooboboon
gbogbooboboobob.oobo,gbobooboobobobobobon
gobooobgoobooo.

gooooboooooon

0000000000000000000000 Fi(z),FY(z)0,0000,0
00,000000000000000,

-ﬂ@%:A%AHXW¢+MWMWW

or 1 (3.23)
FHz) = I, s —p, &) pdpd
4(2) / / (r(2); — 11, &) ududd
000.000,000000000 Fr4(z) 0,
Fret(2) = Fi(z) — FA(z) (3.24)

000000, F(z)>000000000 :000000000000000
0000000000.0000 20 2+d:0000000 d:0000000
000000000000000.000000000000000000000
000 dF™(z) O,

dF™(2) = F*'(2 + dz) — F2(2) (3.25)

200 coo.
oo coo.
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000. dF™(z) 00 (0)0000,0000000000000000000
0(00)000. 00000000000000,0000000000000
00000000000000000,000000,000000000000
000000000000000000.

aT
0000 A~A+dA000000(00)00000000000000 &
d\
0,0000(@00)00000,
or 1 QR
- OR() (3.26)

Ot |gn  Copa 0z g

ooo.0o00,c,00000000,p,, 000000000, 00000000
00,0000000000.0000 (00)b0OD0O00000,0000000
ggboooooon.
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40 4UOood

4.1 OO

g l1ggogoboobbbodooooooboobbodooooo. bbogog
0,000000000000000,0000000. 000, (3.20),(3.21)0
gbobodgbbogbgoo,gbogobuooobuoobbuoobbuooboo
gob.buodgbbuoodgbbbuoogbboboob,boooboobobboo
gobooo,ggbbbdogooboogubbobuoooobbbuoonon.

gobboboooobb,goobbbuoooobbbuoooobboogd.

4.2 OO

goooboon

goboboa,gbbbuogoboboogooboobod.

g

e UUDOOODO
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oo

ODDDDDDDDDDDDD(DDDDDDD 8.0km)

e OO DODOOUOO

e JUUOOODIDOOO 0.0

e OO OOO 1000 hPa
Oooog

e OO DODOOOUOOOOGQ.

e OO DODDODDODODUOUOOOUOOOOO.
godd

e 000DO0DDO h=>50,000m

e 000000 dz=1,000 m

e JOOODODOOO dt=8h

e JUIUUUOUODDDDO 4pm ~ 100pm

e JUUDO : 0000000 DLOObOObOODbDODbOO 6=0.0100
oooono.
oon

O00oooon

drl,(t;0,
WAT09) g 6y~ (716, 0) (3.20)

dr,
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0000000000,0000000 00000000000000000
0,00000000,

L (s 1, &) = I (7 +11, 6) exp {J—

1
T I dr’
+/ JV(T’;+M,¢)eXp{—(TMT)}7T, (3.21)
T _t d/
ri-nd) = [l —poyenp| -0 (3.22)
0
000.000,0000 0000000000000
T(z):/ kpdz' (4.1)
000.00,0000 00000000
o) = [ pads (42)
0

gbb.gobbodbbodobobodb,obbudo -rLOOhOo0obboobobo
gogoood
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